3-JAW HIGH SPEED HOLLOW POWER CHUCKS -JAW HIGH SPEED HOLLOW POWER CHUCKS

=IMS5&E BHOIASLE TN\ /S 5EPZEHER 2 ER
Lo g =2 ,— rd= arger roug ole
22 SH B 225 OP-221,224/8 K358 51

R < B > Dimensions With Larger Through Hole

R 3 BE > Dimensions

-Q_
1R w W
1T ik T
W W B EEE L
T T o & 2] | Bt =< Bt ~ ~7°7'30"
4 @ @ o[ -5 ol FEH= >
—FeE _EeE |
= %E\ = %EI 7730 ! = Y z i
X| AT == X| AT = =) ,
g 5 -y g ) S %@@—z@—@@—} N ES P§[‘é‘é = "S %]% Q% s
Sl Hpalos 8- 88 88§ - | IS —E’é Egl—;_ 5%
£§L i §IL == || ®_|® 45 i&® @ ®9§ E E QL'E[—- ﬁ = . =
—F —F \ K
B=" 2e K 4 , = = i
i Nk i = b H2 H1 E[ K E. E]
B~ ETT L E1 OPF-206,208,210,212 & OPF-215,218 #! B E L E1
B B B B |
#8 #% & > Specifications BE{{I/UNIT:mm
) N e . _
RIS /3RS %g%%“;@ #7318 3 > Specifications EA/UNIT:mm
MODEL RmE¥. A B C D E E1 F G H H1 I H2 12 H3 . B
/SPEC. s%isr? e (he) AR /R THSmERE
MODEL Nose Of A B C D E E1 F G H H1 11 H2 12
OP-204 - 110 59 85 - ~ ~ 4 < 706 - - - - - / SPEC. Spindle (h6)
OP-205 A-4 135 60 110 63513 20 - 4 96 826 PCDo118 3-M8x1.25P - - - -
OP-206 Ax-5 169 81 140 82563 15 - 5 116 104.8 PCDg@145 6-M10x1.5P - - -- OPF-206 Ax-5 169 81 140 82563 15 - 5 116 104.8 PCDg145 4-M10x1.5P - --
OP-208 A-6(A-5) 210 91 170 106.375 17 23 5 150 133.4 PCDo180 6-M10x1.5P - - -
oP210 A-8(A-6) 254 100 220 139.719 18 28 5 190 1714 PCDo225 6-M12x1.75P - - - M As-6(A2-5) 210 91 170 106.375 17 23 5 150 133.4 PCDo180 4-M10x1.5P - -
OP-212 A=-8 304 110 220 139.719 18 - 6 190 171.4 PCDg250 6-M12x1.75P -- - -- OPF-210 A2-8(A=-6) 254 100 220 139.719 18 28 5 190 171.4 PCD@225 4-M12x1.75P - --
OoP-215 A-11(A-8) 381 133 300 196.869 22 33 6 260 235 . - PCDo230 3-M12x1.75P PCD@300 RN
oP-218 A-11(A=-8) 450 133 300 196.869 22 33 6 260 235 PCDo230 3-M12x1.75P PCD0300 3-M12x1.75P PCD@380 OPF-212 A-8 304 110 220 139719 18 - 6 190 171.4 PCDe250 4-M12x1.75P - -
OP-221 A-15(A=-11) 530 140 380 285.775 27 41 6 330.2 330.2 PCD@300 3-M16x2P  PCD@380 3-M16x2P  PCD@460 OPF-215 A-11(A=-8) 381 133 300 196.869 22 33 6 260 235 PCD@o324 4-M12x1.75P - -
OP-224 A-20(A>-15) 610 149 520 412.745 27 42 6 463.6 463.6 PCDo350 3-M16x2P PCD@450 3-Mi16x2P  PCD@550 _
OP-210BH A-8(A-6) 254 100 220 139.719 18 28 5 190 171.4 - - PCDo160 3-M12x1.75P PCD@220 OPF-218 Ax-11(A:-8) 450 133 300 196.869 22 33 6 260 235 PCD@300 4-M12x1.75P PCD@380 4-M12x1.75P
OP-212BH A8 304 108 220 189.719 18 - 6 190 171.4 = = PCD@o170  3-M16x2P  PCDo260
BT/ A
Mig{ggﬁg 13 J K L M N N O O P P Q R S T u \ W X GilGa Wb e
/SPEC. max. min. max. min. max. min. MODEL J K L M N N O O P P Q R S T U V W X Y
max. min. max. min. max. min.
OP-204 - 26 3-M10x1.5P -~ 14 23 203 115 67 35 -65 23 10 175 2 M32x1.5P 12 24 495 / SPEC.
OP-205 - 33  3-M10x1.5P 15 14 262 235 19 6 1 9 25 10 20 2 M40x1.5P 12 315 62
OP-206 - 45  6-M10x1.5P 16 20 32.35 29.6 24 7 1 -1 31 12 19 2 M55x2P 20 375 73 OPF-206 45  4-M10x15P 16 20 3235 296 24 7 11 -1 31 12 19 2 M55x2P 20 375 73 -
OP-208 - 52 6-M12x1.75P 18 25 39.1 354 30 10 145 -15 35 14 205 2 M60x2P 30 39.5 95 S
OP-210 - 75 6-M16x2P 19 30 51.5 471 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 OPF-208 52  4-M12x1.75P 18 25 39.1 354 30 10 145 -15 35 14 205 2 M6eOx2P 30 39.5 95 104.8
. - 91 6-Mi6xeP 25 30 616 563 46 12 8  -15 50 21 28 2 MI00Ox2P 50 51 129 OPF-210 75  4-M16x2P 19 30 515 471 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 1334
OP-215 3-M12x1.75P 117.5 6-M20x2.5P 28 43 823 77 46 13 75 16 62 22 425 5 M130x2P 48 66.5 165
OP-218 3-M12x1.75P 120 6-M20x2.5P 28 43 83.8 785 78 18 75 16 62 22 425 5 M130x2P 48 66.5 165 OPF-212 91 4-M16x2P 25 30 616 56.3 46 12 8 -15 50 21 28 2 M100x2P 50 51 129 -
OP-221 3-M16x2P 180 6-M24x3P 33 60 119.6 1143 633 213 105 -13 65 25 425 5 M195x2P 80 73.5 180
OoP-224 3-M16x2P 205 6-M24x3P 37 60 1344 1284 873 213 135 -11 65 25 41 5 M220x3P 80 735 180 BeaaelEl 1175 4M20x25P 28 43 823 77 46 13 7 -16 62 22 425 5 MISOx2P 48 66.5 165 1714
OP-210BH  3-M12x1.75P 78 6-M16x2P 24 30 53.1 48.6 33.55 11.05 895 -10.55 40 16 25 2 M87x2P 40 43 110 OPF-218 120 4-M20x2.5P 28 43 838 785 78 165 7 -16 62 22 425 5 M130x2P 48 66.5 165 171.4
OP-212BH 3-M16x2P 93  6-M16x2P 27 30 63.7 587 4555 1255 865 -13.05 50 21 26 2 M103x2P 50 51 129
. _ _ MiTig =g PR BRARE -
AU /3815 ELEE HEIR (B goomsz BAL) BB GEggs  ge o J5K S miTie I - BART "
MODEL v Thru-Hole Plunger Jaw Stroke f}sg%&a Max. Pull  Max. Gripping  \jay Hydr. PE RERER gﬁé@@ -~ ElEs EETE [Eéﬁ = e EAHLT) BRI tgﬁjns_fjj mE E;.E'HE or  FRISEIE
/SPEC. [Diameter] Stroke [Diameter] r rri(rrl)win") Force Force Pressure Weklght Matching erpplng B /1S 'IJ'F HT:IE Plunger STEEK EeEER  Max. Pull Max. Gripping N’I il%d i SHERTT BYSE FERE
mm) | (mm)  Dameter] rp.m. kgt (KN) kgt (KN) ygtiome (Mpa) (KO  Cyiinder ange MgFPE% [Di;‘;eﬁa‘;’] Stroke [g‘i’vamer?er‘]e Max.Speed Force Force S V\/(i'g)ht Matching GF;g)r?";g
OP-204 - 26 10 5.4 8000 1428 (14) 2850 (28) 24 (23) 38 P0928 07~0110 ’ (mm) (mm) (mm) rp-m.(min”) - kgf  (KN) kgt (KN) kgficm? (Mpa) g Cylinder 9
OP-205 - 33 10 5.4 7000 1730 (17) 3570 (35) 29 (2.8) 6.1 P1036 210~0135
OP-206 - 45 12 5.5 6000 2140 (21) 5710 (56) 28 (27) 125 P1246 213~0169
OP-208 104.8 52 16 7.4 5000 3360 (33) 8360 (82) 26 (25) 219 P1552 213~0210 _ OPF-206 45 12 59 4500 1630 (16) 4180  (41) 21 @1) 142 P1246 022~0169
OP-210 133.4 75 19 8.8 4200 4280 (42) 11010 (108) 27 (2.6) 337 P1875 230~0254 OPF-208 52 16 7.4 3600 2440 (24) 6010 (59) 19 (1.9) 245 P1552 2925~0210
OP-212 -- 91 23 10.6 3300 5500 (54) 14380 (141) 27 (2.6) 553 P2091 035~0304
OP-215 1714 117.5 23 10.6 2500 7140 (70) 18250 (179) 245 (2.4) 1068  P2511 035~0381 OPF-210 7 19 8.8 8200 3160 (31) 8050 (79) 20 (20) 381 P1875  028~5254
OP-218 171.4 120 23 10.6 2000 7140 (70) 18250 (179) 245 (24) 152 P2511 040~0450 OPF-212 91 23 10.6 2500 4080 (40) 10400 (102) 20 (2.0 60.5 P2091 035~3304
OP-221 235 180 23 10.6 1700 9080 (89) 23760 (233) 315 (3.0) 195.2 P3420 2115~0530
OP-224  330.2 205 26 12 1400 9080 (89) 23760 (233) 315 (3.0) 2694  P3420 ©140~0610 OPF-215 117.5 23 10.6 1800 5400 (53) 13600 (134) 19 (1.9 1115 P2511  063~0381
OP-2108H | 133.4 78 23 2 200 azdy (08 o B ey (B0 @i i 2oege o OPF-218 120 23 10.6 1500 5400 (53) 13600 (134) 19  (1.9) 1645  P2511  080~0450
OP-212BH - 93 21 10 3300 5500 (54) 14380 (141) 28 (2.7) 574 P2093 ©35~0304

09



